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QUESTION 1

A Cisco UCS chassis has two ports on I/O Module 1 connected to Fabric Interconnect A, and two ports on I/O Module 2
connected to Fabric Interconnect B. The I/O modules are connected to ports 1 and 2 on their respective fabric
interconnects, and end host mode is configured. After a link failure occurs on port 1 of I/O Module 1, what happens to
the traffic that was pinned to that link? 

A. The traffic fails until the link issue is resolved. 

B. The traffic is repinned to I/O Module 2 link 1, which is connected to Fabric Interconnect 

C. 

D. The traffic is repinned to the remaining link between I/O Module 1 and Fabric Interconnect A. 

E. The traffic is repinned automatically to Fabric Interconnect B. 

Correct Answer: C 

 

QUESTION 2
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Hot Area: 

Correct Answer: 
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QUESTION 3

Refer to the exhibit. 

VSAN traffic is not being routed through SAN fabric. Which action is helpful to resolve the problem? 

A. Make sure that the FSPF hello interval value matches on both switches. 

B. Change the FSPF hello timer back to the default of 5 seconds. 

C. Make sure that the FSPF hello timers are different so that they do not compete. 

D. Make sure that the FSPF dead timers are both set to 0. 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. 
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All the interfaces on the switch must forward traffic by using VLAN 701. Which action do you take? 

A. Enable the vPC on port channel 1101 and port channel 1102. 

B. Lower the switch priority such that it becomes the spanning tree root. 

C. Increase the switch priority such that it becomes the spanning tree root. 

D. Allow VLAN 701 on port channel 1101 and port channel 1102. 

Correct Answer: B 

 

 

QUESTION 5
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Refer to the exhibit. You are attempting to trace packet flow from server1/1 to the fabric. On which interface does traffic
leave from server 1/1? 

A. fabric A 

B. Po10 

C. fabric B 

D. Po30 

Correct Answer: A 
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